Writing Exercise:  Session 11 WR150 - "Decay Chains"                      Name____________________________________

The Earth is composed of some 200 stable nuclear isotopes, the "left-over" end-points of the decay chains of the myriad unstable nuclei born in the explosion of the supernova that was here before us.  Original radioactive nuclei have had 4.5 B years to decay to the stable isotopes around us.  We can recreate today some of the products of supernovae by bombarding stable nuclei with neutrons from a fission reacto, or with protons accelerated by a cyclotron to overcome the Coulomb barrier of the target nucleus.  
Discuss a) the processes and b) the radiations produced when a nucleus with i) too many protons (relative to its number of neutrons) or ii) too many neutrons (relative to its protons) stumbles down into the "valley of stability."  Please use good WR150 sentence structure, and continue on the back when you need more space.
